0.019.5483.4/20

6180 TTV AGROTRON -> WSXU470200LD50001

Section: LO - ELECTRIC AL SYSTEM Ref: 0.019.5483.4/20
BRACKET FOR MULTIFUNCTION JOYSTICK
Fig. P/n QTY Name
1 0.019.5483.4/20 1 bracket
2 0.900.1982.7 3 element
Round guide element
3 0.900.1982.8 1 element
Manual lock
4 0.000.0000.1 cannot be supplied

1/1



0.019.5483.4/30

6180 TTV AGROTRON -> WSXU470200LD50001

Section: LO - ELECTRIC AL SYSTEM Ref: 0.019.5483.4/30
BRACKET FOR MULTIFUNCTION JOYSTICK
Fig. P/n QTY Name
1 0.019.5483.4/30 1 guide
2 0.900.1982.7 3 element
Round guide element
3 0.900.1982.8 1 element
Manual lock
4 0.000.0000.1 cannot be supplied

1/1



6180 TTV AGROTRON -> WSXU470200LD50001

Section: LO - ELECTRIC AL SYSTEM Ref: L0.07.1 (1)
STEERING COLUMN SWITCH UNIT - REVERSING GEAR UNIT CONTROL
Fig. P/n QTY Name

Notes:

[6180 TTV AGROTRON -> WSXU470200LD50001]

1.1 0.019.0502.2 1 front grille
1.2 0.019.0501.2 1 front grille
1.3 0.014.0007.4/20 1 control
1.4 0.018.7370.4 1 control

& 0.018.7370.4
1.5 04412779 3 screw m 5x6.5
1.6 2.0349.010.2 3 screw m 5x10
1.7 04426679 3 screw m 5 x 20
1.8 04426681 5 screw m 5 x 45
1.9 0.019.2410.0 1 support

K9_V9184_05_0-A-001

1/1



6180 TTV AGROTRON -> WSXU470200LD50001
Section: LO - ELECTRIC AL SYSTEM Ref: L0.07.1 (2)

STEERING COLUMN SWITCH UNIT - REVERSING GEAR UNIT CONTROL

Fig.

P/n

QTY Name

Notes:

[6180 TTV AGROTRON -> WSXU470200LD50001] -> 50002

1.1 0.019.0502.2/10 1 cover
1.2 0.019.0501.2/20 1 cover
1.3 0.014.0007.4/20 1 control
1.4 0.019.7293.4 1 control
1.6 2.0342.101.3 6 screwm 5 x 12
17—70 2 1.7 04426679 3 screw m 5 x 20
i 18 04426681 2 screw m 5 x 45
L 1.9 0.021.7696.0D 1 support
e
12— 16 1.10 0.019.7375.4 1 tube
1.11 2.0312.012.2 3 screw m 5 x 35

K9_V9184_05_0-A-002

1/1



6180 TTV AGROTRON -> WSXU470200LD50001

Section: LO - ELECTRIC AL SYSTEM
SWITCHES / IGNITION BLOCK

Ref: L0.07.2 (1)

QTY Name

P/n

[6180 TTV AGROTRON -> WSXU470200LD50001] 50549 <-

Fig.
Notes:

start device

key

1

0.015.0485.4
2.7439.023.0

32

switch
switch
switch
switch

1
1

2.7659.376.0

2.7659.382.0

push-button
switch

1
1
1
1

2.7659.380.0
2.7659.379.0
2.7659.411.0
2.7659.471.0

10
12

K9_V7184_00_0-A-001

1/1



6180 TTV AGROTRON -> WSXU470200LD50001

Ref: L0.07.3 (1)

Section: LO - ELECTRIC AL SYSTEM
SWITCHES / IGNITION BLOCK

QTY Name

P/n

[6180 TTV AGROTRON -> WSXU470200LD50001] -> 50544

Fig.
Notes:

start device

key

1

0.015.0485.4
2.7439.023.0

32

switch
switch
switch
switch

1
1

2.7659.376.0

2.7659.382.0

push-button
switch

1
1
1
1

2.7659.380.0
2.7659.379.0
2.7659.411.0
2.7659.471.0

10
12

K9_AY584_00_0-A-001

1/1



K9_V8784_46_0-C-001

6180 TTV AGROTRON -> WSXU470200LD50001

Section: LO - ELECTRIC AL SYSTEM

Ref: L0.07.5 (1)

DRIVE iMONITOR
Fig. P/n QTY Name
Notes:

[6180 TTV AGROTRON -> WSXU470200LD50001]

3 0.017.9597.4 1 control

1/1



Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/deutz-fahr-6180-ttv-agrotron-tractor-parts-catalogue-manual-instant-download-sn-wsxu470200ld50001-and-up/



